BRERR RER (NEER))

[THETH 4 | FEH
(FEEREZ | 19:30
EA
X5 3] T it
BELUHEEEY 22852 N| 25755 A| 48607 A
BEER 12,060 A| 13384 A| 25444 A
SER LAKREEN 6,404 A\ 6,522 A| 12926 A
AR EEH 5577 A 6,780 A| 12,357 A
TEEBREER 79 A 82 A 161 A
EIEEH 10,819 A| 12427 A| 23246 A
BER 52.77 % 51.97 % 52.35 %
T4
=L 3] T &
BELHEEEH 29 A 60 A 89 A
BEER 2 A 4 A 6 A
AER LHREEN 0 A 0 A oA
AR EEH 0 A 0 A oA
TEEREEHN 0 A 0 A oA
ENDNEREEN 2 A 4 A 6 A
HEEFREENK 0 A 0 A oA
EIEEH 27 A 56 A 83 A
BER 6.90 % 6.67 % 6.74 %
BER+ES
=L 3] T it
BELHEEEH 22881 N| 25815 A| 48696 A
BEEM 12,062 A| 13388 A| 25450 A
EIEEH 10,819 A| 12427 A| 23246 A
BEFE 52.72 % 51.86 % 52.26 %




